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However, according to  — %912 278 13 155 7990 ;7927 IMRT I8R5 NON
the one who maintains, the Torah speaks in the language of men, etc.

OVERVIEW

The 770 writes! concerning a w"w that 1°9v2% 25w 1yn 213 233 oX. We can derive
from the extra word 213 (according to the 7" that X"12 W95 770 7727 &XY) that the
w"w is 201 for 772X (as well as for 712°13). However, asks the X713, according to the
7"» who maintains X"12 W92 70 7127 (so there is no ‘extra’ 213),> how can we
derive the 772X 211 by a w"w. Our MvOIN reconciles our XMx with a seemingly
contradictory view of n1901n elsewhere.

mMooIN anticipates a difficulty:
= 39201050 RYT NI 120 DIPN DO 1PYIT NITDT 2) DY 9N

Even though that even according to the 7"» that X"12 W9 770 7717,

nevertheless we do expound the extra word except where it is illogical to

implement this w7 -
— (N1379nNNA M1 2,89 91 Yy 72 P92 FNYWIN0TD

As I explained previously in the second P2 —

mooIN responds:
= 5172533 WY 29157 115 ATPAN MY 9aNDN NY 93 NON

Here too it is not logical to include 77°28 (from the ‘extra’ 213°), since in the 77N

it is written in an expression of ;72%13 (not 77°2x) -
$OTN 23 PV NN D927 9199195 19 1IN

So therefore it is appropriate here to say X''13 339> 77990 77927 and not include 772X,

1'%,25 (o°wown) nnw.
21t is normal for people to use a double expression (like 213 213) when talking.
3 Here, however, it would seem quite logical that a w"w (who is 211 for 72°13) should be 211 for 772x. In fact, as the
R will state shortly that 72°13 is 01 1°¥2 and 77°2K is Ay°wd 1°¥2, so if a w"w is 21 for 72°13, he should surely be
270 for 77°aR. Why then is this 72an0" X7 qw7?!
4 The X7m3 there brings two cases where we say X"12 W92 70 7727. One is by 7pwa for an »2y 72y where 77201 X?
19932 n°2an, and the other is by a person who has the means to support himself but wishes others to support him. We
are not required to give PN or support in either case; we do not derive an obligation for helping from the extra
P°I¥N P or W avn vava (but rather we say X"12 W93 77N 7127), since in either case the 70 excludes this person,
either by writing 7972 2w (by an ¥"v) and 12 707 (by a wealthy individual). Logic tells us that these people cannot
be derived from a 121 (but rather we should say X"12 753 7710 7127).
5 It may be logical that he should be 2»n for 77°2x, since he is 21 for 72°13 (as the X793 will shortly conclude), but it
is not logical that the word 17213 should be interpreted to mean 77°28 (especially since we can say W93 7710 7737
X"13), for the 770 could have written 77°2K explictly.
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SUMMARY
A "2no &7 w97, not only means that the rule derived is not logical, but it can
also mean that the method of derivation is illogical (even if the rule is rational).

THINKING IT OVER
What did n1901n assume in his question, and how is his conclusion any different?
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